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— Language error

— Logical error
* Semantic error
* Algorithmic error
* Run-time error
* Infinite loop
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— Partially correct
— Termination
— Totally correct
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subrouting move N from X to ¥ using Z:

(1) 1f N 1s | then output “move X to ¥™;

(2) otherwise (that is, if V 1s greater than 1) do the following:
(2.1) call move N — 1 from X to Z using ¥';
(2.2) output “move X to ¥
(2.3 call move N — | from Z to ¥ using X;

(3) return.

Assume that the peg names A, B, and C are associated, in some order, with the
variables X, Y, and Z. Then, a terminating execution of the call move N from
X to Y using Z lists a sequence of ring-moving instructions, which, if started
(and followed faithfully) in any legal configuration of the rings and pegs in
which at least the N smallest rings are on peg X, correctly moves those N rings
from X to Y, possibly using Z as temporary storage. Moreover, the sequence
adheres to the rules of the Toavers of Hanoi problem, and it leaves all other rings
untouched.
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int sum=0;
search (Node n, int depth) {
sum+=depth;
for (int i=0; i<n.childrenNum; i++) {
search (n.child[i], depth+1);
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